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Calculate the best product-mix i ‘both of the
fﬂllumna‘.inﬂﬁpﬂﬁlﬂt cases
(i) Total availability of taw material is limited
to 18,000 Kg.
(i) Under i trade agreement the firm mmuﬁ'._
produce mﬂmrhm‘?,-&ﬁﬂunmﬂtht' T
products taken together.

{b) A company. produces 4 single product and sells |
at Rs. 1ﬁﬂu¢h1hewﬂm;m&torm¢p du

i m. 120 per unit and the fined cost for the ¥
is Rs. 96,000, Calculate:

(i} P/V Ratio

i) Sales at break-even point

(i) Sales umits required 1o earn 3 uﬂ,‘&am
profit of Rs. 1,20.000. {mﬁj
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5. [a) For pwdmﬂﬂ of lﬂﬁﬂﬂ Electrical Automatic
[rons, the following a7 budgeted expenses
Direet Materials
Darect Lithour

|
varahie Overheads

-mw 'tlmi Fined)

Er.pu.u:tns (Rs. 50,000 rigid Tor all
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|. Attempt any three paris:
{a) Solve the inequalities: {4 = 3)
) =251
@ %<3

(b) One thousand people took part in o survey to
reveal which newspaper, 4, B, or C, they had
read on & certain day. The responses showed thal
420 had read A, 316 had read 8, and 160 had rcad
€. These figures include 116 who had read both
A and 8, 100 who had read 4 and ﬂ',ug‘i:l?rﬂ whi
had resd B and C. Finally, all these figures include
16 who had read all three papers.

(i) How many had read 4, but not B7
{ii) How many had read C, bul nefther 4 nor B?

(ifi) How many had read neither 4, B, nor C?

(2] Solve for x;

(i) x4+ 2l =vd—x



1
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(W) Wx —R="x+ E-9
(d) Fill the blunks Yelow with “if?, "onty i OF “if and
AcB

[i) AnB= A

{H x>y x>0

(i) 22 +5> 10 x >4

ﬁ'ﬂ.. .f"ti‘.l}'ﬂﬂ?__._______.'l"ﬂ g s BO interiof
exireme point on.f

(ii) Show that
find this inverse fumction.

() Supposc @ function i defined 35

.

p.T.0.
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(i) the intervalis) where the funetion 18 m_mﬁi}:x

{iv) point(s] of inflexion

vy sketeh ihe curve

nd function and cost function

(o) If the inversc dema
for & mnnupu!lk'ﬂ sre given by

c=20+22F 3xd
is the guantity
for producing *

p:ﬁl}v-:u'lﬂ

where p is the price, ®
demanded and C is the cost

umits of the product.
T ‘
(i) 1s the profit fmﬂ?,un convex? "’
(i} Find the price and gquantity {hat maximises
profit for the monopolist.

tax of RS 5. per unit of quantity
Find the price and quantity that
for the menapolist

(liiy 1T bn excise
is imposed.
maximize the profit

equilibriam priee and quantity

hist if instead a sales 1at at

f sales is imposed.

{iv) Determine the:
far the monopo
the rate of 20% ©

4. Attempt any three paris: {9 = 3)

) (i) Find the inverse of the n. % B mateix A Af

ey Sl

e S
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m.'uﬁi « B4, prove that A' B = B

(o, Byl is e linearly independent set ol

by (1A=
veclors. examine
vectors {o - i, vyl

the independence of the sel al

(i) Find the eigenvalues and eigenvecturs vl the

following:

~ B
mamwﬁx-ﬁamws-e 9 -;)
g
b=|1]
s 0=(3)

Determine the values of p and g for which the

| system possesses’
{i) Unique solution
{11) Infinite solution

(iil) Na solution
E BT
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{d} At present the proporti
jce cream is shared between two brands A and B
holding 20 and 80 percent share respectively.
Every year, 30% of ffic consumers of Brand B
shifi to brand A while 10% of the consumers of
rand A shift 1o Brand B, What will be the marked
shares of the 1wo brands:

an of the total markel for

(i} neExl year
(i} afrer 2 years

(iii} after an infinie number of years

& Attempi any Two parts: 4 =

(n) Find the area ;enclosed between y = X and ¥ =

1 the positive guadrant,

(k) Find the consumptian funetion C(¥) when tm{

ac
ropensity 1o consume, MPC = ar

margmal p
|

o
04+ T3 and C(¥ = 100) = S0,

& (ine (s 49) de

{c) Evaluate gy
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1. Write your Roll No. on the top immediately on receipl

I

of this question papet.
Attempt any seven questions i all.

Question No. 1 18 compulsory.

Write shorl nofes on (any three) : {(B=3]
(n) WARP

(b} Marginal Rate of Substitution

{c) Numeraire

id) Moral hazard

What ie meant hy sconomic problem? Explain the

problem of scarcity and choice. “A single production
possibility frontier illustrates three concepls:

P.T.O.



3006 2

£h

Scarcity, choice and apportunity cost™. Elucidate with
diagram, {12}

Show with the help of diagrams the relationship
between price effect, income effect and substitution
effect aceording to Hicks, when ponds X and ¥ are
as lallows : (=2}

(1) Normal goods

(1) Y is normal good and X is Giffen good

What is income elasticity of demand and explain the
derivation of Engel curve using diagram. (12}

Expecied utility function has some WETY eofvenient
properties {or analyzing choice under uncertainty,
Explam. [ B

Discuss the significance of budget line and explain
using indifference curve analysis the concept of
consumer surplus, (12)

‘Isoquants can be canvex, linear or L-shaped’.
What does it tell vou about the nature of production
function? Explain using isoquants the three stages of
the law of returns 1o scale, (12}

“Long run average cost curve (LAC) is derived from
short-run avernge cost curves and  envelopes them.”
Explain using diagrams, {12)

(1000)
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| Write your Roll No. on the top immediately on receipt
of this question paper.

2. Question No. 1 is compulsory. Attempt ANY FOUR
guestions from the rest

1 tise of Simple Calculator and Time Value Tables is
nllowed,

I (iy Mr, A's father promised 1o give him
fe, 21,00,000 on his 21* Birthday, Today 15

his 12" birthday. Calculate and evalunte the

P.T.0
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following altcrnative options available to Old machine New Machine
his father for arramging the sum on his 21% Purchase Price NA R4, 00,000
birthday; Lnsstallation cost NA Rs, 50,000
fa) H K ! in a bank Dl
a) He'can make an annual payment in 4 ban Warking Capital NA R, 1.00,000
sich | &lart &r i v :
scheme, starting one year from now, How p o e 7
much should he deposit annuslly, if the _
Prosent Scrap Value Re 200000 NA
bank scheme gives him 10 % return per
Scrap value afier 4 years.  NIL Rs, 140,000
AN,
Current book value s | 60000 RA
(b} He can invest a lump-sum in Mr A’s Annual Revenues Re 7,70000  Rs. 860,000
bank account after one year nd allow Cash cxperses Rs 450,000 Rs, 3,580,000

it 1o compound ot the bank re of 6%

per- annum. How much should he invest?

{1} Profitability index technigue of capital budgeting
ignores snlvage value of the praject, Do
you ngroe? E.xpllin the sieps involved in its
caleulation. {10,5)

2 A Company is considering the replacement of
an existing machine. The following details are
wvailable:

3

Depreciation oo old sssel (s charged at Rs. 40,000
poi.and the new assel is 1o be depreciated by writlen
down method st 20%. Applicable corporate tax rate
is 40% wnd capital gain tax, if wny, is to be ignored.

Advise the company about the feasibility of the
proposal using Net present Value Method if the
required rate of return is 12%. {15}

(i) Firms X and Y are in the same nisk class, and
are identical m every respect except that the
Firm X uses debt while Firm ¥ does nov The
levered firm has Rs. 9.00,000 debentures,

PO

[




|
(b} Value of ‘each firm using Net aperatin i

Income (NG approach.

(€). Overall cost of capital (ky) For firms % ang
X

(d) Which oF these two firms hgg an o

capital structure using NOJ nﬁmuh ml L
why? 1
(ii) “Market ‘G’ﬂw weighty

Are superior 1o book
value Weighs,* Comment, (10,5}

4 W Manohar 114, Has follow

'ing book value capiy
Structure,




TSonrces of funds

Eauity share capial (Rs. 10 each) 5
|29 preference Capital (Rs. 100 each) | |
Retpined Eamings 20
| 1.5% Debentures (Rs 100 each) 10
11% Term Loan 135
The next expected dividend om equity shares 18
par share is

Rs. 3.60 per share, the dividend
arket price per

share is Rs: 40. Preferenc ;
after 10 years, is currently selling at Rs. 75 per
share. Debentures, redoemablc after 6 years.
ate selling at Rs. §0 per debenture. Thie tax Tae
for the company is 40%. Calculate the weighted
gverage cost of capitalby using

[a) Book vaiue weights
4:7] plarkel value weighis.

(i) What 18 meant by the term sjeverpge”? Discust

sks acznciated with each of

jts types and the 1l
(0.3

therm

p.T.0O.
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The present paid up capital is Rs. 60 crores and |

the annual EBIT is Rs. 12 crores. The tax rate
miy be token 0. After the expansion plan 1s
adopted, the EBIT is expected to be Rs. L5
crores. Caleulate the EPS ynder all the three
financing options indicating the alternative giving
the hi"ghﬂ'ﬁ return of the cquiry shareholders.
Also, determine the indifference point between
the equity share capital and the debt financing.

'ﬂﬁ} “1,jquidity and profitability are pwo important

competing goals for finance man#gers”
(1050

Comment.

7. Auempt any Three out of the fallowing :

(i) Functions of & finange manager
{ii} Accounting raie of return

(i) Suability of dividends

{iv) Factors affecting working capital 15,55

sz i, i

e e o
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|, Consider the following statements whether true or
false. Justify your answer with sppropriate reason.
Attempt any FIVE,

(i) Wholesale Price Index and Consumer Price Tndex
may not reflect all changes in price level,

(i) The IS curve indicates a negative relationship
between the intercst rate and the income level
that arises from goods market equilibrium.

(iii) Larger the multiplier, flalter is the 1§ Curve.

(iv) An increase in expected price level leads 1o a
decrease in the actual price level,

(v} Given expecied inflation, an incresze in mark-up
price leads to an increase in inflation. vi. Inflation
acts just like a tax. {5=3=15)

2. Define the IS Curve. Derive 18 ocurve
diagrammatically, What is the impact of expansionary
fiseal policy on the economy’s outpul and interest rate?

(15)

3. (a) A monetary expansion has no effect on output in
the medium run under the AD- AS model. Justify
VOur answer, (107

6429 3

(b) Show how are natural rate of unemployvment,
natural level of employment nnd natural level of
output related to each other. i5)

Given the following equations

Consumption + C=200+0.8Yd

]::weument I = 300-6i
Government Expenditure G =200
Tax L= 025Y
Real Demand for Money Md = ). 3y-2j
Nominal Money Supply M' = 800
Price Level e P=2

(i) Compute the equilibrium level of income, Y and
the rate of interest i,

{ii} Suppose the government purchases sre raised from
200 to 250 and the nominal moncy supply is raised
from 600 to 650, What is the magnitude of the
shifi in IS and LM Curve? What are the new
cquilibrium levels of income and the rale ot
interest? {E+.'-‘}

BT.0
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= ¥

{a) Do you agree that an increase in price of oil leads
to & lower real wage and a higher natural rate of
unemployment? Justify your answer. {5

{h) What causes a shift in aggregate supply curve
under the AD-AS model? (7

(a) Discuss that the new Keynesian cconomics
provides a better explanation of stickiness of
wages and prices in the short run.

{(h) Quantity theory of money examines the links
between inflation and economic growth. Discuss,
(13)

Write short notes on any TWO of the following:
(i) Components of Aggregate Demand

(11} Real Business Cycle

(iii) NAIRU : (7.547.5)

(600)
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your college. Explain the imporlance of vour sell-
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You have heen given the responsibility 10 orgamse a

Departmental fest in your college. Explain the
relevance and importance ol prioritizing work.

Wﬁﬁl Lmamrmm of TODO list and weekly

plum.

by gﬁ,m *::::‘! -

6428 | :z;

impnmmb grmm wnm:qm 1 today's

make Effort 1o build it. Explain the relevance of
emotional intelligence 1o her and distinguish
‘emotional intelligence from intelligence - quotient,

,u:hrn listening skills can help build relationships, solve

ems, ensure understanding and avoid conflict. By
baeam‘n; 4 bnllﬂ lluam wou will improve your
kplac vity, ue well A4 yhur a-l:th to lead
a ream, pu;mdum megotinte 11 this context answer
ihe foltowing

(o) Importance of listening
{b) Benefits of active listening
(¢) Barriers to effective listening

Explain any two of the Tollawimg taols in context of
Croativity

PT.O,
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All gquestions carry egqunl marks,
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Hindustan Unilever Limited renamed its popular skin
caro brand- Fair & Lovely to Glow & Lovely i July
2020, alter the fairness products came under $ocial
pressuré amid a globul debate about racial inequality.
In thix context explain your understanding on consumer
learning und Altitude change strategiey of consumers?

(15)

'Luminous Hair Oil- The Non- Greasy Formula', is an
upcoming brand of hair oil that promises hustrous and
healthy bair using nloe Vera and jojoba which makes

11 the first brand of ail that 1s non-sticky. The company:

Neva Ltd. bas launched (his product conssdering the
problem teenagers and adulis face as they are
emburrassed to go oul with oil in their Radr due Lo its
stickiness: Luminous Hair Oil will be the game changer
in the hair care range as people would stop being
hesitant and doubtful about using hair oil, enjoying all
the henefits along with an upper edge of being non
gredsy and exsy to use, The oil will be nvailable in o
regular use 200ml bottle as well us a small SOmi travel
piek, Design o creative briel for strategically
launching the brand and its produet in the Delhi marker,
You may make necessary assumptions and clearly
specily (hen. (15}

Adoption of online grocery has incressed with
engagement level and order volumes accelerating, in

rnﬁ 3 =

metropolitan cities of India, In refercnce 1o the onling
play of the Indln grocery delivery space, ZEPTO, a
10-minute grocery delivery service. beating many
henvily backed rivals on speed. discuss your
understanding on diffusion process und adoption of
innovations process” (13)

‘Replenish-Energy No BAR', s the ultimate energy
drink that today's market wished for. The brand is
made for all the sge groups as it uses nontoxic
ingredients o give you the needed energy hoost alomg
with’ Vitamin D, anti-oxidants. Green Ted extract,
green coffee extract and 20% notural coconut water
to give the required sweeiness. These would be
available in § different flavars and in two different
packaging snd with absalutely no added sugar added
and lhenoe it's o greal product for vegan and. gluten
free market, Plan o detailed media plan for us launch
Iﬂ-.ﬁﬁrrﬁpul'itm gitles, You may make appropriate

wssumpLions, {1%)

Section B
The following questions are compulsory.

Write short notes on any TWO ol the following.

} Perceptual Distortion
s B T.O
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Instructions for Candidates

1.  Write your Roll No. on the top immediately on receipt
of this question paper.

2. Question ne. 1 is compulsory,

3. Attempt any four from the remaining questions.

1. Cnse Study

Jaya has recenlly joined HCP Technologies as the
Senior Group Mangzger. She was leading a team of 70
young enthusiasts. Each member of the team was [ull

B.T.G
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of talent and energy, however, Reema was wruly an
exception in this cobort. Unlike the others in Jaya's
lzam, she was uncooperative and demativated. Despite
the fact thal Reema could do much better, her work
wits chaotic and disorganized. Since, laya was new
in the company and it was entirely a new project with
unknown subordinates, she had no clue about their
individual issues. After speaking to some of her senior
and experienced colleggues, she came to know the
lact that Reema used to be the star performer in the
team, working hard, collaborating efficiently and
generating ever great {deas since more than a decade.
But now, she has become a completely different person
reluctant 1o contribute and collaborate. Jaya could not
fire her as she was a great technical support for the
entire team and was kind of irreplaceable. Also, the
company had momentarily kept hiring on freeze.
Reema's indifferent and casual attitude had badly
impacied not just hee own performance but was also
having a negative impact on the rest of the team.
Jaya was facing o tough time thinking what she could
do o pull her out of this slump. She wanted Reema
to be the same star performer as she wsed to be
belore.

Based on your understanding of the case, you may
make necessary assumptiong and answer the questions
given below:

6421 3

(&) In your opinion, which motivational theory should
be applied by Jaya to motivate Reema 7 and why?

(8)

(b) Which according to you is & better motivator in
this case, emplovee empowerment, job redesigning
or reward system for high performance. Justify
your response. {7

{a} What do you understand by the term organization
behavior? Also, explain its relationship with other
related fields, (107

{b) Explain the concept of social loafing? (51

The Myers-Briggs Type Indicator (MBTI) is a
personality assessment tool that assists in employing
‘right person at the right job' during selection process.
Explain in detail how the four categories or the sixieen
personality divisions provide an insight about the
personality of a person or tendencies of his/her
behavior. {15)

The implementation of Organizational changes must
be carried out cantiously in the organisations as it 1s
a very sensitive topic. Explain the three stages of the
implementation process for any planned organizational
change according Kurt Lewin, {15}

P.T.Q.
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5. Throughout the entire decizion-making process,
perceptual distortions often surface that can bias
analysis and conclusions. Explain common biases &
errors in decision-making, (15}

6. (a) Differentiate between Transformational and
Transactional leadership. (10)

(b) Organisational cultures impact emplovee
performance & satisfaction. Comment. (5

7.  Write short notes on any three
(a) Self-Efficacy theory of Motivation
(b) Self-Leadership

{c) Group Think and Group Shift
(d) Types of Reinforcement with example

(5= 3=15

(500)
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ﬂnly: o simplex problem.

nmmpuni four iteranions. he was
golution. Using 1he rule
10 understand and.

he might have

(6)
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2 (a) Four Operators {0
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3, The following table gives the activities in a project
and other relevant information:

| Astivity | Preceding MM'@I__A
_Activity | Optimistic | Most likely | Pessimistic
_ﬁ_ - "' ﬁ 1 E
B A 3 7 H
I BT fﬁ g ="
1] ; : ) Fa]
2 -— i . -
- C ® 2 1
| P d ¥ e
3 S S | Sy || i
1 [0 T = i

(a) Construct an arrow diagram for this problem,
determine the critical path, and state the expected

project ﬂﬂﬂﬂﬁm i-i‘-ﬂlﬂ. (5}

(b) Dnﬁmmr:ﬂhbﬂhy that the project will be
n 55 (3)

(¢] If the company wants to be 90% sure that the
system will be installed in 50 days, failing which
[l MWlmhf of Rs, 500 per day. What
5 the sbility that the penalty, not exceeding

Rs. W“‘“h paid? (5)

P.T.O.




) Draw the arrow disgram of the abov]
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(6) Explain the differcnce between expect
 opponuunity loss and expected value of perie
nformation

L]
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(b} (i) Graphically show gquening and service rales

6.

10

is there a rolation petwesn the two?

(1) What is the interpretation of the number of
arrivals being predicted through Poisson
distribution and service time through negative
exponential distribution in gueuing theory?

(5

You are given the following information aboul &
Company: ﬂm:ndFI 800 units/annum, Grdering Cost
(Co)= Rs 200/0rder.Helding or Carrying Cost (C,) -
2 0O/unit, The supplicr of the Company puis &P the

fnllnwipg-ﬁ.nﬁ_i_l’;ﬁuﬂ_:_ﬁ[ﬂf their order:

Lot Size Ordered  Price per Unit (Rs)

Less than 600 12
500-799 10
200-99% 9.2
1000 - 1499 9.0

1500 and above g8
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You are required 1o complete the table given bejow

A1 T ® R Y B
?H;Hhh Prive Uit | Annual " Anmial i :-m: ]

) Ordering Carrving | Purchue Ampus|
[ e  F [ L+ DeE)
= e
e e R o ey

Should the Company place its order a1 EOQ to optimize
eost, (10}

(a) A refrigerator mechanic finds that the time 10 repair
the units follows ag exponential distribution with
B0 average time of 30 minutes. If he attends 1o
his repair job in the order of arrival of the
refrigerators that follows a Poisson distribution with
an average rate of 10 per day (given an eight-
hﬂ'm ‘What is his ‘expecled idle time
cach day? How many jobs are ahead
At bt St

of the set
[5)
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(b} Explain the significance of safety stock or ABC

analysis in inventory management. (5)
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1. Write your Roll No. an the top immediately on receipl
af this guestion papet

(5]

Attempt any 5 questions out o 7 questions.

3 Use of Simple Caleulator ond Time Value Tables is
allowed

1. (a) Investment is all about making your moncy work
for you' Explain Also, cxplain the various AVENLLS

of investing.

i g 0 1
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{b} There are various aftributes that ene should
cenzider while evaluating the soundness: of an
investment,! Elaborate,

(e} Explain Candlestick Chart used in technical

analysis. (5+5+5=15)

2, (n) Consider ‘the following twe  bonds:
L NG Thogs -
ebale (G000 oo |
Maturiy 10years Oy

gy SRR |

Assuming annual inferest payments ind an 8 percent
yield 1o maturity on the bonds, Caleulate Macaulay
duration for the above two bonds: Alsg lrom your

solution, state and explain the relationship betwesn
duration and coupon rate, (8)

(b} Discuss the primary propositions of the expectalions
theary and liquidity preference theory, i

(2} A mutual lund made an issue of TL00,000 units of
Rs 10 ench on Jan 1, 2021, No entry load was
charged. It made the following investiments:

50,000 Equity shares

of Rs 100 each @iRs160 RS 50,00,000

I
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7% Chavl, Securitics Rs 8,00.000
gy Debentures (unlisted) R 5,00,000
1 0% Trebentures {listed) Ks 500,000
g, 00,000

During the year, dividends of Rs 12.00,000 were
r:ceiﬁd an equity shares, Interest on all types of
deht securities was teccived as and when due. At the
end of the year, the equity shares and 10% debentures
m. quated at E75% and 90% respectively. Find oul
the WAV per unil given that operating expense paid
during the year amounted 10 Rs 5.00,000. Also find
out e NAV if the mutual fund had diseributed 4
dividend of Ry 0,80 during the year 16 the unitholder.

%)

{by What 13 ETE? How iz il difTerent from eonventional
mutnal funds? {7}

4. (a) A company earned Rs 6 per shure and paid Rs
348 per share us dividend in the previous yoar,
What would be the price of the share today. i

(i) growih in dividends is zero and
.

PO




i m“wﬁ @n "
(i) Mﬂham e

(i) 80% in A and 20% in B

1 A and B is -0.04,
(8)







